F= i4-1

# 912301 1054 2744 B #fEY R ER AR ~ - L ERAF
&
9

432 1058 4 i T L

>~
Py

I BUREE 'S T S8 BRI

BN EEE S T AT T EEET

fk\ﬁ 7st ‘%I] : %,2‘5?\‘“4]\ »’égﬁfi

#* P28 addrw (s #FARE2Z - Z25%HE2)

TR L R BE

NOLA T ORBIEE Y- ER -"?:':— B AES bl d 0B % 0 AR m,giﬁupﬁu 2
(D) 5OKE » HAE2 4 » % 2B AA fespt h;aui,i**i'rc’% AERLE EEF 0 A A A
G TIFEE-

1 Wﬁfﬁ%iiﬁ%iiiﬂ%ﬂ%ﬁlﬁﬁ ’ T?Ufﬂ%éﬁ%ﬁﬁ?&ﬁ%ZHﬁ% ?
(A) 3 2 (B $H R O =11 D [FEEHE

2 BN ARIBEZREER  WEIAGEAEE R M E S AR E M AR S EE - IR
%Eﬁﬁ ?
WS AR DAHERIRZ 2 &8 R R
B H N R N A
CL%Bm}Eﬂ%E%%E‘ZZ&@%n CAFRZ A HIA BR8]
DVEN EERAEEMRER B ZHRERRHRT] - Bii N AR
3 SHHERGEZNE WM RERIDEARE = B \uyai_i_{é FE R A TR AN ZE ?

W EFEE B =  TEUARE O EEk D EERAEE
4 WEILEZR B Z BRI R ?

WHEEEE R ILH G E R — (©) B3l — LAl (D) B — 75 [ i S0 1.1
5 (KIEFEMEHCORE » NI EIEBFIOLARER 212 ?

WILAEGEETE R R EE A S B 7B R Ab R

OFTEERE & 2 55 SRR L AR (D) HR = 5 AL AR
6 T§ e IR Es T e s — ZJ%’%XZT&ES ?

Wi Z2REZ RS OTRERLZEE OXVPREGZAS DEZENEER A

7 RIBRERSE TTRAE - RS Z FIATRR Ryfrl o 7

WA BREE G H# O = TBUER D AR

8 (RIEEASE BHMC > AN THEAELERNGZEZ S TYMENEZ?
WREATERMEE - e FARIRE AT
B EFIUREIREI S  PrbyisEtt AB H - e - gt ERT > IEAIAE
O ZAG LB
@%ﬁu%ﬁ%%Z%@%Wﬁ AEFEER S
9 IKBEFEIAAEEMREREE - NG BRI - YRR IR ?
w%ﬁ%%mﬁ%%%Z&IQIE@%I‘
(B AFRE R EBUGEIBG 2 8 E TR ST R IR A
OAEIW%@%Z%&%Mﬁ&ﬁ%%EZ
&itt 2 B BOEEIA R R E TR
10 %F%ﬁ%kﬁ%ﬁﬁﬁiﬁﬁ@%i%ﬁ'ﬁﬁ%ﬁéﬁ&ﬁ BT A ER o YRR & I 2
mﬁl*ﬁﬁ@mﬁ%ﬁm it LA E
BELft AR ETZ it - TR BEAEARE - MoREAFTARE - AR E
OBIZ BUNEE - S04 E
D%AEZ@Uﬁ%ﬂW AIEEFIEA - BB REE

11 {RIEBEDAIERETSE 587 sifEfER s > TR MENEMSRE  EEEEL 506G T
NHIarFEAEF] ?
) T FHE B-FEME OFNE I HE (D) AFEHE

12 [BUEHE R LS EHSERER R E 5 T s RIRIEN 53 E 15 25k T fEREF] 2
WEsmEH B EFHE (O DA ERE

13 1T IR 1S5 (RMUE © TR RR g iR FEE M G RIEHIE o EEIE%%EZ&{%@ 5 Ryf 2
(WEARERRTK BIEFEFIR OFEZE DEFIETT Ky



14

15

16

17

18

19

20

21

22

23

g 12301
F =& 14-2

REREUN S E R T BB RGN B A TH - ORES Ty eI fEEE ?

WA B H AR OFEEE (D) BB

RAFSHLT BB Z B H A - (IEEDER TS S50 SRARRER T T ARG E FEER ?

W5 G BIRS BT R 2 S B S YE R R E FRE SBIH - A RRE R R 5

BN MMEFH T BE FREZ OEIRZ AR T P IASROEREM T e RiR e 2 /)

©) FR UL AN TLIE AR B 7 U B 4 AT RE 2 BRIP4 B S Y - KU T B4 - R R T A B E
FHEZOERZRE

(D) R A S i T B EEIRS A BUEIE 2 TDEE I - BRAE M7 VAR AR ZAZF 2N - TEKHE R
FHAERE & TH TR SREEs - 20t 8 TS NMHEREZ S - 28BN L2 EINHAE 2 FE—

Hir > FET YRS B NI NMLAE - Rz B ERG T2 0 IR & IEE ?
WNHEE VR NZ - SRR B B IP

BAE A FR MR A =R &

OZFE NS IELAF - SRR LIEPFEAZ FESETH

(D) BRI/ NZZ N VRLEE - B I AR S A R

J& F4X IE 55 Eh3ELY - (RGENEAETAVVRTAS # - NIRRT A ?

W55 TS TR 3MEH LLE LA - B 30 HATTHE Z

B THNEEITRER - ROt LR LIRS RER M - FEEE EA NG TE

OFRS&E TSN - THEIHRS TSRS TR AT R

(DJeg EARMGE R E AR TR S &% 1 F 224 BN FREHIR . T&

HHAFEIE BRI ECE E Y 2408 - DIA SR 7= fefb &N EEn - 250% - Bl RIRHIAA

Rz i SO I F 2 IR - MHE P EED R EM A ZERE - THIR0L - (TZIFEZ ARG T
TRIBE 2 H?

WHT &R - (R R AT E

B FTEE &R o (R TR R

OEN i - 2% - HEEEEET  (RESH BEMERGT T DI T - A FIR G st 2 &R R s e
DAREFEEREZRETR - EEMVE LA

K H BB REENE - BN HEBRFEE L e 2 (RIE - NI EsEaR ?

WM EAGERYE - ENHER MESE TR E Rl G J7E

BIEENEE - pEMmEETERBAS ZAELEE - HHEREFE RO FHEE Z1E - SHtinbAE
BEZABRMN A RBEEBRES » FHMESET - £F - BUERNmEERItiRg 2 AELEE » Ak E
=it

O P B S A S R B A 2 P i B iR s - TR A R & i B A TS s R B e L B
FH SR/ K A n] S EIHR 2 2

DRSS BT R B IR H - 5 e IR A el B ¥ E A L R & F - RIAHEEBIGZHAL R
e B 1 H RS

R BCR HIRGI - TR IMEE FEER ?

OB EINT BRI

BHCEAIT R AHE AL TR E TS A AR

OfEEEHNEEEEST (FISE) PRAFFZIA]

DVEUE ] o) B RS SRR (R

BERTHIESS 277 {56 2 TALEBEFRBATIEZ Fo4 - AR & IENE ?
WHA[FER ASE - (HAFREEEH] BEHIIELSFIL
O &7 R EaE R BAZ R (2 220 ID)EE) NS A EAl g

BERYAREAEL » YRR & $EER ?

WAETT BT AARRGZ ESE A A NBEE A

B FRERFT RHYR BRI A A

ORI ELHEAFE

OREEHREHIPRA] - AMEETIEREHE=A

IR REN 97 £ 5 H 23 HEIEAMAZ RIERERAE - NHIARGESEZFRIROL - (&85 ?
WG LR £

B FHLCE F A EL S EIRRIEESEC > aaIL &

O RABIERTAZREISE > VIS SR - & AR

D ELEHEEE Y - EEENVETEFASEEBRE - (1 RIIA RIS



gt 12301
F=k14-3

24 THVEHETT Ry > BN E S Z AN OSEBI A Z FEE RS A0 ?
WHHFH = B) Ry PREETT Ry O TR DFFEETHE
25 NI - (ARG TR ?
WEHEPRE R B)3E 5 H R (OFz e eiBEdi A D TEE B A
26 EEHRGIG ARG IR A A BT N R A GRS - IE—HUEIRT T ARV RTES AR ?
(&) TAEHE BT Ot EH AN
27 YRERERAT - SFETETEEFIRESE LT AR ZHE B B EBUR R RAE
WFTEE BF T OF%E D HEHTIT

28 KIBEES 170 RKUE T AEATE AR SHEILECEE - SRR AR o o IR T Y Mo e
B ?

(W ILIAMRE B F] AR (O 321205 IESHll)Zo s
29 NYMREEEEM - MR T TA R R S 7
W FEFRE R EIE H G RG] BFrIE S E A FTHER R
OB PR L SN B SRR P 5 SR A (D) & Fe T BT B S B RE S (o I U B A

30  NIIAERAAEEMGEZRUL - A #HER ?
WP P I EREAEERIE NEEREZ &R ®AEENEZ @R E EEE

O TEERLEZ & RN AR g 0B D TR R 2 ARG S Ry AR

31 ThePresident urges other political circlestostop _ intheinternal affairs of sovereign nations.
(A meddling (B) attempting (© declaring (D) legidating

32 The family that just moved into the community treated their neighbors with cold _ even when they were
greeted warmly.
(A significance (B indifference (©) distinction (D) constitution

33 Alex told Alice he really admired her paintings, and she returned the _ by saying she was a fan of his
scul ptures.
(A) retrenchment (B) compliment © supplement (D) detachment

34 The mgjor negative effect on the environment isthat overconsumptionis _ theworld' s natural resources.
(A) depleting (B) deporting (© deploying (D) deploring

35 The Japanese are said to have a penchant for adopting foreign cultures. They blend them with traditions and then
develop a distinctive mix of both.
(A) The Japanese are not very good at adapting to foreign cultures; they are very traditional in their ways.
(B) The Japanese language is a distinctive blend of traditional and foreign vernacular.
(© The Japanese are adroit at incorporating foreign cultures into their traditions and developing a distinctively
hybrid way of life.
(D) The Japanese include foreign cultures in their way of life but keeps them separate from their traditions.
AT BB S 36 A5 40/ ¢
What causes autism is a mystery.
One _ 36 isthat a phenomenon called the cellular-danger response (CDR) lies at the root of it.
The CDR makes cells put their ordinary activities _ 37  and instead switch on their defence systems, in reaction to
high levelsin the bloodstream of chemicals called purines.
These are important and widespread _ 38 : ATP, amolecule that shuttles energy around cells, is a purine; so are half
the “genetic letters’ in DNA. Cells under viral attack tend to shed them. Too many of them in the blood can thus be a
signal of viral infection. In that case _ 39  the CDR makes perfect sense. But studies have shown that people with
autism (and also those with some other brain conditions, such as schizophrenia) often seem to have chronic CDR. The
purine signal has somehow _ 40  inthe“on” position. Yet why this happensis obscure.

36 (A theorem (B) theory (© axiom (D) adage
37 () onhold (B) hold on (© check on (D) on duty
38 (A subsistence (B) supports (€) substances (D) existence
39 (1) attacking (B) activating © arresting (D) avenging

40 (4 got stuck (B) got started (C) got assigned (D) got attacked
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Exactly what constitutes smart living is a matter of conjecture as various aspects of life continue to become
digitalized. Some might call their homes smart just because they _ 41  security service companies that can
provide long-distance protection. However, for others, a smart home should have additional features, such as
energy-saving _ 42 . Similarly, a vehicle equipped with a GPS _ 43  device is smart for some drivers.
Nevertheless, others may think smart cars should be able to plan the route to the destinationand __ 44 traffic
congestion. As far assmart living is __ 45 , the sky is the limit. Before the increasingly 1CT-enabled world can fully satisfy

all users, there shdl always be room for development and improvement. Smart living may no longer be adream.

41 () isconnected to (B) is connected from (C) are connected to (D) are connected from
42 () fusions B functions ©) factions (D) foundations

43 (4 navigate (B) propagator (©) propagate (D) navigation

44 () avoid (B) develop ©) fasten (D) involve

45 (4 confined (B) concurred (€) concerned (D) concluded

AT BB S 46 £ 55 50 7 ¢
| sat in on an English lesson at the Gamal Abdel Nasser Secondary School. The Scottish instructor—one of three
Britons employed in the Yemeni school system—uwas drilling the class in the difference between the “ present simple”
and the “present continuous’. There were twenty very thin, very eager boys aged between about fourteen and
twenty-two. They were part of that tiny educated leaven in a country which has an illiteracy rate of ninety percent, and
they had tense, ambitious faces. They had been trained to compete continually against each other, so that the lesson
turned into a kind of noisy greyhound race. The moment that the instructor was half-way through a question, his voice
was drowned by shouts of “Teacher! Teacher! Teacher!” and | lost sight of him behind the thicket of urgently raised
hands. If a student began to stumble over an answer, the others fought to grab the question for themselves, bellowing
for the teacher’s attention. | once taught for a term at a comprehensive school in England: had the children in my class
ever shown a small fraction of the enthusiasm displayed by these Yemeni students, | might have stayed in the job a
great deal longer. They were ravenous for the good marks and certificates which would take them out of their villages
and tenements, and they behaved as if every minute spent in the classroom could make or break them.
46  What isthe narrator’s current profession?

(A) Heis an English instructor.

(B) He teaches at the Gamal Abdel Nasser Secondary School.

© Heisastudent in Yemen.

(D) The narrator does not mention it.
47  What did the narrator do in Y emen?

(A) He taught English Grammar.

(B) He studied how to become an English instructor.

(© He observed English teaching at a'Y emeni school.

(D) Heissued certificates to students studying to become an English teacher.
48 Which statement describes the study environment at Y emen?

A Itisrichinintellectual training and socia resources.

B Itisfiercely competitive in the greyhound race.

© It isacountry with only ten percent of its population educated.

(D) It isan environment in which the students are not interested in learning English.
49 From the passage, what are the students’ learning attitudes?

(A) They believe that education is the only way to success.

(B) They believe that education will help them travel to other villages.

(© They receive education to become teachers.

(D) The students are indifferent to education.
50 What isthe main purpose of this passage?

(4 To introduce tourism and sightseeing in Y emen.

(B To raise funds for Yemeni schools.

(© To show Yemeni students enthusiasm for education.

(D) To encourage more English instructors to teach in Y emen.
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